B X R EXERBLEFRXAA % |R%| ®

BERZFE | Att B2 RN | Erm

B R B | HRHERIELAELE  AEIEFLN

# B | —ou$

2 & F R | TREATERHEHR

| (30%) 1. Find the general solution of the following differential equation.
[— (a) y'—ly=x2+2
X

(b) x2y" - 3xy’ +4y=0

-
- AS%) 2. fy=-1+ j(‘)f(t ~a)e3%qq
— « Solve for f{2).
— 3
| (15%) 3. Evaluate {724z, Z|=a
- e e
(15%) 4. Give a geometric reason why (FxG)x(HxK) should be in the
[ - - N N
plane determined by F and G, assuming that F and G are
— not parallel.
—  (15%)5. Use vectors to show that the distance in R’ between a point (x,, yq,
B Zo) and a plane ax+by+cz+d=0 is |axg +byg + ez +d|/\/a2 +b% 42,
B assuming that a, b, and c are not all zero.
(10%) 6. Is the following matrix orthogonal? Why?
- -
- 1/4/3 —\E 0
— /43 146 -1/42
u /3 146 1142
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